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Q.No: 1 In which of the following years, Red Revolution was started?

2426879
Frafeife 4 & e @ A o iR 91 oo g 42
1950
A
1950
1980
B
1980
1990
C
1990
2000
D
2000

Correct Ans : B

Subject : General Knowledge

Q.No: 2 The development of was termed as “Neolithic Revolution”?
2426916

& fAS BT "IqUIIOT HifA" HeT T UI?

Agriculture

A
G
Metallurgy
B
o1 fom
Megaliths
C
FmRrY
Homonization
D

BRATEORA

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Who introduced bronze tanka in place of silver tanka?

2426927
Rieat Eo1 & ®F R S P11 b = 4r?
Sher Shah Suri
A
R AT
Iltutmish
B
Fogdta
Akbar
C
SPTR

D Mohammed Bin Tughlaq



aewg 51 gee
Correct Ans : D

Subject : General Knowledge

Q.No: 4 Hymns are dedicated to the gods and natural gifts in

2426936
ST # aensit oIk Urplas IUERI F1 wAfia ¢
Rig Veda
A
Hag
Yajur Veda
B
7gie
Sama Veda
C
A
Atharva Veda
D

g
Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following dance of Punjab aims at expressing the feminine grace?
2427004

Uag & el 8 ¥ 5 79 31 35 ®) 3 $U B I I 82

Giddha
A

fre

Bhangra
B

TSt

Gatka
C

TdPT

Garba
D

TRl

Correct Ans : A

Subject : General Knowledge

Q.No: 6  How is ‘Kolkali’ related to Lakshadweep?

2427016
"I, el ¥ FY el 82
Folk dance of Lakshadweep
A
e BT s T
Festival of Lakshadweep
B
&G FT AR
Food of Lakshadweep
G
eI BT IS
Fabric of Lakshadweep
D

LT BT HUST
Correct Ans : A

Subject : General Knowledge



Q.No: 7  In which year did the National Games start in India?

2427497

HRA & ST Tl P geend e af g32

1924
A

1924

1928
B

1928

1932
C

1932

1936
D

1936

Correct Ans : A

Subject : General Knowledge

Q.No: 8  Who won the first gold medal for India in Asian Games?

2427502
TR el # 4Rd & (e dgen ol gee i sftar ur
K P Thakkar, Athletics
A
¥ 0 o, TUeReR
Ranjit Singh, Athletics
B
ursia g, quafesm
Sachin Nag, Swimmer
C
WM T,
Kulwant Singh, Athletics
D

Padd Rig, quaRkew
Correct Ans : C

Subject : General Knowledge

Q.No: 9  The International Monetary Fund (IMF) has kept India’s growth forecast for 2021-22 at how much percentage?
2428887

SFRIFTE goT S (IMF) 7 2021-22 & 17 4R F 318 & A 3T e ufomd W 3@ 82

10%
A

10%

9.5%
B

9.5%

11%
c

11%

8.5%
D

8.5%

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Which of the following Grand Slam tournaments is not matched with the respective sports court?
2430497

o & B a1 s W e it @9 B¢ @ Ak el 87



A French open-clay court

%9 - I
Australian Open - Hard Court
B
e sivm- 71 FIE
Wimbledon - Grass Court
C
e o e
US Open-Clay Court
D

U SfeH-ad BIE
Correct Ans : D

Subject : General Knowledge

Q.No: 11 What is the maximum capital required to start Small Finance Banks (SBFs)?
2434047

g {39 ST ( SBF ) T UR™ T & U siftrpan et Goft 3 srazadar gk @ 2

100 Crore
A

100 TS

500 crore
B

500 RIS

1000 crore
Cc

1000 FS

5000 crore
D

5000 HAS

Correct Ans : A

Subject : General Knowledge

Q.No: 12 Where is the Bharat Bhavan situated in Madhya Pradesh?
2441036

URT YT HeT U H Hef Ry 82
Bhopal

AT

Gwalior

TIRRR

Indore

R

Jabalpur

AR
Correct Ans : A

Subject : General Knowledge

Q.No: 13 Where was Tansen buried?

2441051
AR BT BT GBAT T AU1?
Bhopal

A
st

B Gwalior



Mandu
C

g

Morena
D

g

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Which of the following is NOT a book by Shri Harishankar Parsai?
2441073

o & 9 $9 40t sheior /S 3 gwe T 22

Apni-Apni Beemari

A
S-S0+t e
Nithalle ki Diary
B
Frow 1 s
Awara Bheed Ke Khatare
C
3marT His F TR
Jeep Par Sawar Elliyan
D

i R AR sfeEt
Correct Ans : D

Subject : General Knowledge

Q.No: 15 In which of the following place is Jai Vilas Palace located?
2441352

o faara tor Pafofed & 3 foa m w fRua 82

Datia
A

aferar

Orchha
B

BT

Bhopal
c

*igr

Gwalior
D

IR

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Where is Gauhar Mahal located?

2441372
MR W el fud 82
Khajuraho
A
Chanderi
B
=8

(o} Bhopal



Mandu

g
Correct Ans : C

Subject : General Knowledge

Q.No: 17 The first green-field Special Economic Zone (SEZ) in Pithampur is India’s green-field Special Economic Zone (SEZ).
2441644
HyR & veal I9-wics fadw o1fife &7 (T9.3.918.) WRd &1 dH-wics faRdw oifife 87 (Tu.3.958.) B
first
A
™
second
B
T
third
c
drer
fourth
D
G

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Which of the following districts is known as the sugar bowl of Madhya Pradesh?

2441653
Frofafed # & & @1 fren Aemew & 9 & $ER S T F S 906w 82
Jabalpur
A
SRR
Singrauli
B
Rt
Narsinghpur
C
TRER
Betul
D
&

Correct Ans : €

Subject : General Knowledge

Q.No: 19 Which of the following districts has Slate pencil industry as the main industry in Madhya Pradesh?
2441666

Heg v H g & v R A e 9w 3dnT S Rt o1 g S €2

Aligarh
A
3cfirg
Mandsaur
B
TEER
Neemuch
C
A
Ujjain
D
IoT

Correct Ans : B



Subject : General Knowledge

Q.No: 20 The Sal trees are confined to the part of Madhya Pradesh.
2441680
T % U W weW & YR 7 e g1
Western
A
e
Eastern
B

o

Central
C
Hea
North-western
D

FaR-uiddt
Correct Ans : B

Subject : General Knowledge

Q.No: 21 Name the method through which drinking water is purified and is proven to be safe for drinking purposes?
2422805

34 fafty 1 T AR e arem 3 UR & ol 61 s e o ® 9iR 9 % foe WRfaa wifsd g 22

Vaccination
A

icgeau

Aquafication
B

TR

Chlorination
Cc

ESliEicau

Decontamination
D

it

Correct Ans : C

Subject : General Science

Q.No: 22 Filters containing tiny pore that causes the cessation of bacteria from penetrating the sheet-like structure so that potable water could be obtained.
2422806

BIe UR A1 e S SeciRar & =ie SRl WRa § gan F A 8 e 0 i ol v faar s e |

Porcelain filter

A
= gt ¥ sRa bR
Aqua guard
B
WIS
Mosquito mesh
C
HBR S|
Filter paper
D

fpeeR IR

Correct Ans : A

Subject : General Science

Q.No: 23 Ross taught her to save water because:
2422810



I A I UM T Rarn it

It is non-renewable

A
7g R-"dioia §
It is used for drinking
B
ST ST G 3 fore foam e B
Water is found in liquid, solid and gaseous form
C
ot TR, S IR fta wu § uran s @
It is renewable.
D

Tg TdiEig §1
Correct Ans : A

Subject : General Science

Q.No: 24 what is the condition of disturbances in physiological or psychological processes of body?
2422981

TRR 3 I 1 T wiosmel B Tead ot fRufa @ 87

Disease
A

W]

Health
B

Wy

Fitness
C

ey

Diet
D

IER

Correct Ans : A

Subject : General Science

Q.No: 25 The reason and symptoms of each disease are

2422982
7T W HHRU AR TET gl
Same
A
e
Specific
B
fafrg
Identical
Cc
q
Similar
D
HH

Correct Ans : B

Subject : General Science

Q.No: 26 Dengue is caused by
2422987

ST fFad FRU ar 8?2

Mosquitoes

TR



Lizard

ot
Bacteria
c
Sy
Virus
D
GiErs

Correct Ans : A

Subject : General Science

Q.No: 27 The scattering of seeds to different sites is known as the dispersal of seeds. Which among the following is not the means/agent of dispersal?
2428006

R Al W Sl F e # S5 % bae & w9 547 o 31 Fufifea § A S S o1 e/ T8 8

thunder
A
foreredt
air
B
'l
water
C
gt
animals
D
KIGCRS

Correct Ans : A

Subject : General Science

Q.No: 28 What are the measures we should take to get good yielding plants? Pick the odd one out.

2428009
3BT IU & A DY U PR F T oH 19U R AIRRT? faww By
The farmers should use healthy seeds
A
T Ry ol &1 W Y
The farmers should add the right kind of fertilisers and manure to the soil.
B
frari 31 gt & W TR o e N e ST Wiy
The farmers should use biopesticides.
C
Tl ot S PreTrret 1 ITINT FRA AR
The farmers should insecticides.
D

foramil @1 S =gl

Correct Ans : D

Subject : General Science

Q.No: 29 The science of classification is called

2428775
ritenRur % fag Y gl Sl &
taxonomy
A
afifet
morphology
B
SFR-RTT (ApTais)

C phylogeny



fperorft

nomenclature

TSR

Correct Ans : A

Subject : General Science

Q.No: 30 Check the odd one out:

2428782
faws @ Sifg a3
Multicellular green plants
A
TgHIRI T 0
chloroplasts
B
FIRERE
advanced algae
c
EECRGI]
fungi
D
e

Correct Ans : D

Subject : General Science

Q.No: 31 is the hygienic measures for food safety.
2428991

Wed Qefl ¥ T @ 3um 3
Biodegradable dustbin

A
TSI Foar
Food sanitation
B
re] w5l
Organic dustbin
C
Sfie TgaT
Inorganic dustbin
D

SFBTSD Far
Correct Ans : B

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2428992 qptigns.

Assertion(A): Hygiene is Related to good environment.

Reason(R): Control an environmental factors that form links in disease transmission.

e FEffed wy & & ua § T @ 0@ &1 "afieuat 3R G 31 'SR $ T4 § ST 51 T B 1 9P 37 G Bl Bt grayHigd® wig S © SR o g fawedt § § vy a1 96 SW

SIBYT (A) : Wl B Ay 3 TR R
BRI (R) : 0T GR01 § Fae T a1l wafarofig SRa! &1 afa #31

Both A and R are true

ASRRIFNTHE

B Both A and R are false



AIRREA L E

A is true but R is false.

ATIEAFTIR GBI RI

A is false but R is true.

AFEIR A RTTRI

Correct Ans : A

Subject : General Science

Q.No: 33 Two diseases caused by drinking polluted water containing sewage.

2428994
i T e O O Q8 e |
Cholera and typhoid
A
&or IR TS
Cholera and tuberculosis
B
o ofR TAfee
Malaria and dengue
C
HaRET 3R 7,
Chicken pox and polio
D

o O SR Wifr
Correct Ans : A

Subject : General Science

Q.No: 34 Clostridium perfringens causes

2430041
FAN ST REGAT BT HRO___ A
Food poisoning
A
e e
Asthma
B
SRYAT
Reproductive problem
C
LSRR LR
Goitre
D
TUSHTT

Correct Ans : A

Subject : General Science

Q.No: 35 Which one if the following is wrong about the preservatives being mixed with ready-to-eat foods to keep them from spoiling?
2430056

I URReR! B WA F T TR TR verdl § TR 81§ g9 & Riw ffya fear s e §, @ Fefafid § @ B9 @ aa 82

BHT

A
dreadt
BHA

B
figEy
MSG

C



D DDT

i

Correct Ans : D

Subject : General Science

Q.No: 36 P + Q means P is the sister of Q. P x Q means P is the mother of Q. P - Q means P is the brother of Q. P + Q means P is the father of Q.
2422449

What will come in place of question mark (?) in the given expression?

V x W+ X?Y + Zif Vis the Paternal grandmother of Z.

P+QadfRfdp QBRI Px QEafRfFp Qe A P-Qaaf3fFp QaugRIP s QTR P, Q@ far 21

T e s B usaraed R (2) & RIF TR @ SRR
VX W+ X?Y+2ZaRY, z 3 ige et 81

+
A
+
b3
B
x
C
D

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Pointing to a boy Ritesh said, “The boy is the son of the only child of my father.” Waht is the relation between Ritesh's father to that boy?
2422471

TP TS DI 3R R B §U NI A FogT, TSI AR Tl BF goheiiedt T o1 97 31 a1 & fan o1 39 o 3 71 99y 82

Grandfather
A

<rar

Son
B

e

Father
c

Tt

Uncle
D

ELEN

Correct Ans : A
Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422584
0, 2, 4, 14, 20, 30, 42
sl | TTed $H PT Ul TIE?
0, 2, 4, 14, 20, 30, 42
14

A

14



20

B
20
30
Cc
30
4
D
4

Correct Ans : A

Subject : General Reasoning
Q.No: 39 Find the wrong term in the series?
2422604

4, 12, 48, 240, 1420

4G H el T BT Uell T2

4, 12, 48, 240, 1420

12
A
12
48
B
48
240
c
240
1420
D
1420

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424508
SR T P T Pt
Nephrology
A
ApraTSt
Entomology
B
TS
Astrology
C
Tt
Mycology
D
IS

Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.
2425643



39 1pia 7 By B G&1 91d Sifog

11
A

11

12
B

12

13
C

13

14
D

14

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426290

AEHN : BGKR :: DFGN : ?

I SHER-GHG BT TG B Sl R 3HeR-THE A S TR Fad § I GO 31eR-THE, U S1eR-9Hg ¥ Heifda 31

AEHN : BGKR :: DFGN : ?

EHIR
A

EHIR

EIJR
B

EIJR

EHKQ
c

EHKQ

DHKQ
D

DHKQ

Correct Ans : A

Subject : General Reasoning

Q.No: 43 A person starts walking towards south. After walking 10 m he turns to the left, after walking 15 m he again takes a left turn. At the end, what direction does he take?
2426341

T cafekt e faxm # ofiR IaT URY FRaT §1 10 Hiex 999 & ag ot iR S e §, 15 Hiek aeM & 91g 98 I STt SR g S 31 Sfd H, 9% fw fawm # S 2

East
A

ko)

West
B

U3y

North
C

JWR

South
D

aferor

Correct Ans : C

Subject : General Reasoning

Q.No: 44



2426390 Select the option /number which is related to 3rd number in the same way as 2nd number is related to a
Ist number?
3:9:126:7?

39 HEAT ffAseT & 99 H S AW FEA 3 Yo6R FaOd § S/ @ TEAT qgelr
TET W T gl

3:9%6:?

180

180
36

36
12

12
216

216
Correct Ans : B

Subject : General Reasoning

Q.No: 45 Select the option /number which is related to 39 number in the same way as 28 number is related to a
2426411

15t number?

5:1250:6:?

IW TCAT [Aeed &1 99 HT A IEY TEW ¥ 3@ TER Geod § S gud gEar gge
& ¥ wEfea ¢

5:1250:6:7

2160

2160
360

216

216
3600

3600
Correct Ans : A

Subject : General Reasoning

Q.No: 46 In the given diagram, Rectangle represents the number of people uses WhatsApp, Triangle represents the number of people uses Facebook and Circle represents the number o
2426555

7
o
/13

Find out the number of people who uses only WhatsApp and Facebook both.

n

T U o H, SrId RICHUY $T IUANT HRA a1 Al B G HT Tt Fxar 8, By Hugs B ST $RA 910 dl @ S8 B Ui SRal @ 3R 99 SRR S SUaNT $3 T an <

7

10
/13
T AN B U 1 PR S Faet FTeeY 3R BIgS Gl 1 STENT v 3
11

n

11



10

14
C

14

7
D

7

Correct Ans : B

Subject : General Reasoning

Q.No: 47 In the given diagram, Circle represents engineers, Rectangle represents Social workers and Triangle represents Sports person.
2426600

5W3

How many Engineers are Sports person?

fow e o #, g9 ol &1 ufafafia wwr R, s amieie sdfddtel o1 ufafifta wvar § ok Py faarst @1 ufafifia swar @

9
A

9

12
B

12

3
C

3

14
D

14

Correct Ans : B

Subject : General Reasoning

Q.No: 48  What should come in place of question mark (?) in the following question?

2429531
FHIL : ? :: NPRT : SKWO
Frofafaa vy ¥ vy g (2) % =AW 391 9F o T1feT 2
FHIL : ? :: NPRT : SKWO
KCOF
A
KCOF
KCPJ
B
KCPJ
KCOG
C
KCOG
KCOP
D

Kcop



Correct Ans : C

Subject : General Reasoning

Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433192

Fdw: 3 W SR 7, 7y o F A 3 g e

9
A
B
C

\ >

ZX
D

Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.
2433488

?

&

N

J PR B UgaH Y S et 31 QR et 71

-~

N

<




AR

i
=

5
O

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434883

3:27::5:7?

I facped 1 799 X o e T § 99 yHR JEig § OF gO S, veeh e 9 wefia R
3:27::5:7?
45

45
19

19
30

30
50

50
Correct Ans : A

Subject : General Reasoning

(22‘-;\‘1‘00:15727 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If it rains, I will bring an Umbrella
A. It is raining
B. I have bought an umbrella

C. It is not raining

D. I have not bought an umbrella



fow T gy # g HUF SR IS 916 IR HUA §| FYH BT BT GH A, 6T U5d HYF B d TR YA I 7, R & FUA qfdd FY Y T FUF Y A 7
SR N g% dl & STar arm

A SRR DR

B. ¥ 1% o Tiar &

C. R T AR

D. A9 B Tl Wdar §

AB

AB

BA

BA

DA

DA

CD

CcD
Correct Ans : A

Subject : General Reasoning

(22‘.11\;%25039 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
When you drink green tea, your metabolism gets up
A. you drink green tea
B. you did not drink green tea

C. your metabolism got up

D. your metabolism did not get up

o T gy H @ HF SR IS 918 IR HUA §| HYF BT BT GH T, o1 Yod HYT B A GO HUF I 7, R & FYF Aifdd FU Y T FUT Y T 3
o o1 7 A R E Al st AersiRien a8 o @

A. W AW

B. M AT TG

C. 3{TqeT Aeraifred aul 8 Tl

D. SIS HEIIeH 31 ol gofl

AC
A

AC

BC
B

BC

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

(22;11\11-0(;25546 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If someone cheats you, you lodge an FIR.
A. someone cheated you
B. No one cheated you

C. you lodged an FIR

D. you did not lodge an FIR



fq TTT uy 7 Yo YA SR 9P 91% IR HUF §| HYAT BI B TH T, W61 Ugd DY B I g HUA V8, 3R § U dlfed FU I G0 FUT F WA T
M P SMuan! el e B, A S T g

A, fEt 7 smue e

B. freft 3 smusT s e far

C. 30 T& firat oof &t

D. 3MTa Tt & el &t

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441949
ZBXD: VFTH :: NCKE : ?

I e 1 75 ¥ S R ug I St UBR Tafla § O TPR gERT Ug Ugd U 3 Sefia © |

ZBXD: VFTH :: NCKE : ?

JGGI
A

JGGI

JHGI
B

JHGI

JGHI
C

JGHI

JHHI
D

JHHI

Correct Ans : A

Subject : General Reasoning

QNo: 56 - gimplify: 24— 12+4x3

2422334
IRA DI 24— 124 x3
13
A
13
14
B
14
19
C
19



27

Correct Ans : B
Subject : General Maths

Q.No: 57 simplify: 97-[50- {35 - (15 +3-2)}]

2422359
WA BT 97— [50 - {35-(15+3-2)}]
70
A
70
75
B
75
78
(o}
78
60
D
60

Correct Ans : C
Subject : General Maths

Q.No: 58 Kapil deposited Rs.7890 with a finance company for 2 years at an interest of 6% per annum. What is the compound interest that Kapil gets after 2 years?
2423596

FHUd A 7890 TU TS fad Sl H 2 w9 & € 6% vt af & s R o w1 S Y 2 o a1 fva awafs s e g2

Rs.975.204
A

Rs.975.204

Rs.278.308
B

Rs.278.308

Rs.321.601
C

Rs.321.601

Rs.760.358
D

Rs.760.358

Correct Ans : A
Subject : General Maths

.No: c . . . 1
(22420365191 Aayushi took a loan of Rs.11000 against her insurance policy at the rate of 125% per annum.

Calculate the total compound interest payable by Swati after 2 years.

3 ST % 11000 Sy o 1239% Y A TRy T aifore a5 Rromes dvot foram| 3 @ 2
& |1g 4 Fel Tshg & ST &Y I0TeAT Y |

Rs.7579.2681

Rs.7579.2681
Rs.2123.1281

Rs.2123.1281

Rs.1287.321

Rs.1287.321
D Rs.2921.875



Rs.2921.875
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428576
[2626 = 26 -100f2 + 50 -26 x 3+ (30f20-4 x 12 + 16 - 25 + 5)]
A B
[2626 =26 -2PT10 + 50 -26 X 3+ (20P13 -4 x 12 + 16 - 25 + 5)]
70
A
70
76
B
76
77
C
77
80
D
80

Correct Ans : B

Subject : General Maths

Q.No: 61 Find the average of the first five even numbers.

2432515
ugeh ufe gu Gemslt @1 siad i Bl
7
A
7
6
B
6
8
c
8
9
D
9

Correct Ans : B

Subject : General Maths

.No: 62 = — .
243‘:‘682 Ifa+b=>5 and ab =2 find the value of a2+ b2

YfGa+b=>5 3R ab =272 A a2 b 2 BT HH JId B |

21
A

21

20
B

20

25
C

25

30
D

30



Correct Ans : A

Subject : General Maths

S Ifx2—4x + 1 =0, then what is the value of (x6 + x6)?

TfE x2— ax+ 1 =08, Al (x6 + x6) BT AH 1 DR

2744
A

2744

2716
B

2716

2702
C

2702

2786
D

2786

Correct Ans : C

Subject : General Maths

3434762 0.l _32x-0 x-1)
If x* , then one of the value of * X '/is:
4 1 { 1)
Zlﬁ{x +x—4:322x=0 %,Fﬁlx-;iﬁwm:f%
6
A
6
8
B
8
2
o
4
D
4

Correct Ans : D

Subject : General Maths

Q.No: 65 Dimple made a profit of 50% on selling price when selling a suit at Rs 8000. Find the cost of the same dress.
2435207

¥ua 8000 ¥9A B UF Y& F Jga A el W 50 U= F1 a1 SR §1 39 9 B T 19 Sifore?

Rs 4000
A

4000%

Rs 3500
B

3500%

Rs 4500
C

4500%

D Rs 1400



14009

Correct Ans : A
Subject : General Maths

Q.No: 66 Rohan buys an old scooter for Rs 5300 and spends Rs 600 on its repairs. If he sells the scooter for Rs 8000. What is the sum of money he gains as profit?
2435227

AT TP TR Tex 5300 FU H T 3 SR 600 9 IS ARATT W WY Pl 31 A 98 Kpex BT 8000 08 & I9a1 71 @M & &9 § I ot ywrifi ure geft 82

Rs 2100
A

2100 9

Rs 2400
B

2400 F1

Rs 1900
C

1900 ¥4

Rs 2150
D

2150 0

Correct Ans : A

Subject : General Maths

Q.No: 67 A shopkeeper wants to gain 20% after giving a discount of 10% on Marked price of the article. Marked price of the article is marked above the cost price by
2435287

TF GPFGR & Tg R MfFd T W 10% Bt G ST 20% FT @Y SAfSfd FAT =gal 21 I Y [ a¥g W ifebd Hea A ged A e oifdres fafga fovar man ¢

36%
A
36%
32.80%
B
32.80%
33.33%
C
33.33%
38%
D
38%

Correct Ans : C

Subject : General Maths

Q.No: 68 y 3o( s LYordt,
2437465 Whatis the value of 3~ (:'r w)"f 2 is:

D g Crea £

14
A

14

15
B

15

18
C

18

16
D

16

Correct Ans : A

Subject : General Maths



Q.No: 69 Convert 0.343434..... into a fraction
2437485

0.343434..... B 0@ i § 9|

31
99

31
99

32
99

32
99

33
99

33
99

34
99

34
99

Correct Ans : D

Subject : General Maths

Q.No: 70 Which one of the following statements is true?

2437545
Frofafea § 4 o W o v 82
A regular polygon of 10 sides has 10 lines of symmetry.
A
10 ywsit & U Fafta sgys & Tafifa 3t 10 YErd @it 1
A circle has no line of symmetry.
B
T TR FHea 3 i Y@ T Bl
An angle has two lines of symmetry
C
T HIU F THET B G @ el B
A regular hexagon has only 4 lines of symmetry
D

T P Yeys  YReTdr ) S 4 ¥ g §
Correct Ans : A

Subject : General Maths

Q.No: 71 Ifin a symbolic language *HONESTY’ is written as ‘ABCKZDQ’ then *“TONY’ will be written in the same language as?
2422534

g farelt Wihfa® U & "HONESTY' &1 'ABCKZDQ' feram Sl § df 'TONY' &Y Ieft urst # feran smowm fore?

DBCQ
A
DBCQ
QDCX
B
QDCX
cBXZ
c
cBXZ
cQpc
D

cQDC



Correct Ans : A

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘UNITY’ is written ‘FMRGB’ then *TRANQUIL’ will be written in the same language as?
2422564

g fdt T HST & 'UNITY' 1 'FMRGB' foran &g dl “TRANQUIL' 1 3t M1 # feran e forad?

GIZMIFRO
A

GIZMJFRO

TZMFJROM
B

TZMFIJROM

MJIROIZBS
C

MJIROIZBS

GMPFZROI
D

GMPFZROI

Correct Ans : A

Subject : Mental Ability

Q.No: 73 Tj 3 row, Maya is 14% from left end and Vineet is 26% from right end. When they interchange their

2425852 position respectively, then Vineet becomes 29 from right end. Then what will be Maya position from
left after interchanging?
T Ufe H, A A BR 9 147 oK {7 T BR ¥ 268 WM W 3, 59 I HAL: S0 M Teoa § A [ @i SR F 2981 8 S §1 S i F 7w 31 wE @ g
15
A
15
13
B
13
18
c
18
20
D
20

Correct Ans : C

Subject : Mental Ability

Q.No: 74 Identify the set for the word INTIMATE.

2426500
T[e3 INTIMATE & feTT 96! 9= 91 uga S
89786145

A
89786145
79438163

B
79438163
78579452

c
78579452
78698365

D
78698365

Correct Ans : C
Subject : Mental Ability



Q.No: 75 If FULFNHW is the code for CRICKET, then EULGH is the code for which word?

2426530

If& FULFNHW, CRICKET &1 %¢ §, o EULGH {3 WIsg &1 e 82

PRIDE
A

PRIDE

BRIDE
B

BRIDE

BLADE
C

BLADE

BLIND
D

BLIND

Correct Ans : B

Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430215 given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: In a one- day cricket match, the total runs scored by a team were 20. Out of these 16 runs were made by spinners.
Conclusions:
1. 8% of the team consists of spinners.

II. The opening batsmen were spinners.

Frofefaa usii &, < Hua S A 1, 11 37 FRRU S7d 7 SMUS! SFT YAl R TR S 8, 4 @ § omIdR | I1d auil § welid 89 @il omuat 4w i e wue % afe fse g @ S 3T

FY: U feafta frdre 79, 0o W §R1 ST T ol 3 20 A1 5§ 16 3 FRRY gR1 9 e 4
ﬁ'ﬁﬂf:

1. & 8% fFandl AR {1

11. Fa Sediarel f8R 3

Only conclusion I follows

Faa sy 1 SR FRar §

Only conclusion II follows

g Prepd 1T SfgeR BT &

Either I or II follows

1 147 1L SR Sl §

Neither I nor II follow

T L SR T 11 SR BT §
Correct Ans : D
Subject : Mental Ability

Q.No: 77 1In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430244 given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Japan's economy is dependent mainly on agriculture.
Conclusions:
1. Trees should be preserved to improve Japan's economy.

II. Japan wants only maintenance of the forests to improve the economic conditions.

Frafafaa usit #, § T ) By 1, 11 T IR0 R § SIS S DYl TR IR S g1, 4 @ 9 SR W 1 aail § Uedid 81 @il| ous! By few T wuet & afe fed @1 dt At 9am

PYT: UM P SR ToT U J Y R AR B



Frpy:
1. SH @t sreforaen # guR & R 95T @ wiga fm s ik
11, ST 3nffes Ry & uR & Rig et Sitrell &1 SR =16 81

Only conclusion I follows

A
Pad ey 1 SR Fvar g
Only conclusion II follows
B
Faa P 1T SRER ST §
Either I or II follows
C
1A T T 1T SFTRR0T FRaAl §
Neither I nor II follows
D

T I 3R T I TR HRaT ¥
Correct Ans : A
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435457 conclusions logically follows from the given statements.

Statements:

1. Some cricket are football.
II. All football are carrom.
Conclusions:

1. Some carrom are cricket.

II. Some carrom are football.

FR faw Ty B &1 HuA SR IUF a1¢ 1 e 18R 11 Y U §1 St Y T Bl @ U W §, 918 3 UHIE: 919 a2t & e v g 8, oot fofa s § 5 Ry o ol F 4 B
T

1. 79 fhdbe Peala g

11. It Beara A g1

e

1. 3% & f5de 7

11. $ 3 Beara gl

Only conclusion I follows.

A

P Y 1 SFTERY Fam B

Only conclusion II follows.
B

e Py 11 AR Ha 2

Both conclusions I and 1I follows.
C

S Py 1 R 1T 3R BRa &

Either conclusion I or II follows.
D

1 q) fepd 1 a1 11 SR Bt B
Correct Ans : C

Subject : Mental Ability

Q.No: 79 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435517 from the statements.

Statements:

1. Some dancers are writers.

2. All writers are students.

Conclusions:I. Some students are dancers.
II. Some students are writers.

II1. No student is a dancer.



forT MU oAl SR et $ eFYdd U1 98 OHd gU P FuEl H TR IMeR) 9 7, YA € U8 WMd: 91 92l § ofcT Tedid gt 1, I% v @ 1% o e et § | S a1 ey fqr S
FY:

1) $S 7, TGP g

2) Tft I, BH B

foeap:

1. % 9H, T 3

II. TS B, 3EF

111 B B, e T 21

Only conclusions II and III follow.

P Y I 3R III TR0 HRa &

Only conclusions I and II follow.

Fae fepy 1 SR 1T 3ER0 Ha §

All conclusions I, II and III follow.

Tl P 1, 11 3R 1X1 SRR TR

Either conclusion I or III follows.

a1 Y s 1 a7 11T SR SRl §
Correct Ans : B
Subject : Mental Ability

Q.No: 80  In the following question, the statements are followed by conclusions. Study the conclusions based on the given
2438540 statements and select the appropriate option as your answer.

Statement:

S=A<P>R=sT<U

Conclusions:

I.LU>A

I.S<T

Al 92 &, FY=A & arg vy G e §)

T&T 91T erel & IR WX ARy &7 HeqTT BT H 391 Iead & § & 9 faned o7 wha B
e

S=A<P>R<T<U

forsad:

LU>A

ILS<T

Only conclusion I is true

A
Faq Pl 199§
Only conclusion II is true
B
Faa Y 11§ |
Either conclusion I or II is true
C
afred o gad
Neither Conclusion I nor II is true
D

a1 RTRIITTR
Correct Ans : D
Subject : Mental Ability

2‘-1’\:';‘;58611 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
Y<]I=P2R>I1
Conclusions:
I. 1>1
II. Y XR



fFAfafld wea &, el & g ey 14U a1 §)

fET 31T Ferell & R W ooy & Jeader B AR 39 3o & ¥ & 59gad faded & a9 B
FueT:

Y<I=P2zR>I

st

L J>1

ILY <R

If only conclusion I is true

A
Haa Fed 199§
If only conclusion II is true
B
Faa ey I T §
If either conclusion I or II is true
C
gafrsiionnsad
If neither conclusion I nor II is true
D

ERiEE s i E NGB ik
Correct Ans : A
Subject : Mental Ability

%:;%58920 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
AXB*~C=D=E
Conclusions:
I.D*B
II. B¥A

TrFATaTad 99 &, U & alg, Tivay 6T v §)

fET 1T FUaT & AR T A T 37600 H{ AT 3T 300 o §9  S9gad famed & ade Fl
FUA:

AxZBs+C=D=E

forsa:

I.D+B

I. B YA

Only conclusion I is true

A
Haa Pepd 199
Only conclusion II is true
B
e ey 11 W 7
Either conclusion I or conclusion II is true
C
gafref I sad
Neither conclusion I nor conclusion II is true
D

a1 RTRIITT R

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true even if they seem to be at var
2439076 the given conclusion logically follow(s) from the given statements.

Statements:
No sun is moon.

No sun is earth

1w T vy H, Q) A & 915 fawedt F AR fawed Gy MU F ) st i3 U HuT Y we A €, W § 3 adve aet | frw wdita g g1 3wt @ feu fi aa wifsie f Ry e et
PY:
oS g dgur T B



DI gt Tl B

No moon is earth

A
Y <o gt T @
All moon are earth
B
Tt <fsm et §
All earth is sun
C
ol gl g ¥
All sun is moon
D

it g de §
Correct Ans : D

Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442663

1. Probation

2. Promotion

3. Job

4, Interview

w

. Confirmation

Frofafea wedf @ ue aifhe U erfgel w0 & e @il
1. uRdflan

2. gt

3. Frd

4. PR

5. R0

54,2,1,3

54,2,1,3
4,1,2,5,3

4,1,2,5,3
51,4,2,3

51,423
4,3,1,5,2

4,3,1,5,2
Correct Ans : D

Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442672

1. Hunger

2. Cry

3. Feeding

4, Child

5. Sleep

6. Mother

ol vedl o afde ud srfgdl w0 & srafRE Fifm:
1. @

2.3

3. WHUH

4, g=T



5. Hiq

6. At
4,5,2,6,3,1

A
4,5,2,6,3,1
4,1,3,6,5,2

B
4,1,3,6,5,2
4,1,2,6,3,5

c
4,1,2,6,3,5
4,1,2,3,5,6

D

4,1,2,3,5,6
Correct Ans : C
Subject : Mental Ability

Q.No: 86 Ankit can finish typing a 515 page document in 28 hours, Ramesh in 29 hours and Suresh in 30 hours How long will they take to type a 515 page document if they work togett
2423710

3ifdd 515 TH & T P 28 €¢ H, TN 29 °e H ofR T 30 € H TRY IR IHdl §1 3R I U F W FA § 1 IT 515 U9 1 SWIAW <RY HA H a1 e e

1232/23 hours

A
1232/23 %
2042/612 hours

B
2042/612 W
23134/2342 hours

C
23134/2342 W
12180/1261 hours

D

12180/1261 1§
Correct Ans : D

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 21 days; B and C in 23 days and A and C in 27 days. In what time can they do it, all working together?
2423762

A 3R B UH F $ 21 fol § IR 9aa §; 23 AT & B 9iR € iR 27 AT H A 3R €. § Wt U5 F1y F19 33 g S e w0y § R 9%a 87
8765/23 days

A
8765/23 &7
8694/557 days

B
8694/557 f&
3234/157 days

c
3234/157 7
9867/321 days

D

9867/321 &
Correct Ans : B

Subject : General Aptitude

Q.No: 88 Rohit house is 29 km away from his school, if the speed of school bus is 5 km/hr. calculate the time by which bus reaches school.
2427281

AT BT W 3 e § 29 Bl R §, 9 o7 5w Y 7 5 fefi/den 8 < o5 w0 SR 50 g w7 e agad § 1
A 6.3 hours



6.3 ¢

3.4 hours
B

3.4%

7.2 hours
C

7.2H

5.8 hours
D

5.8 ¥t

Correct Ans : D

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 22?

2427586
Froafafea & @ o 22 § fowrsa 87
2024
A
2024
6782
B
6782
8673
C
8673
9827
D
9827

Correct Ans : A

Subject : General Aptitude

Q.No: 90 In the given figure, what is the ratio of the area of the A STR to the area of the rectangle PQRS?
2431319 P T a

S R

fog g fepr &, 8T A STR + &F%a (PQRS) &1 81, A PQRS Ud 1 g2
T

P a
s R

A 1

B 2

¢ i3

o 3a

Correct Ans : B

Subject : General Aptitude

Q.No: 91 A man covers the first 210 km of a journey at 60 km/h and the next 198 km at 66 km/h. The average speed for the whole journey is :
2435970

T fad 30 TET & T8 210 km BT 60 km/h B TIfd § 3R 3T 198 km BT 66 km/h B 1M § G HRell 71 G A1 F SRA Siraa T 1 82

64 km/h
A

64 km/h

63 km/h
B

63 km/h

c 62.8 km/h



62.8 km/h
68.5 km/h

68.5 km/h
Correct Ans : C

Subject : General Aptitude

Q.No: 92 Gautam travels 160 kms at 32 kmph and returns at 40 kmph. Then average speed is -

2435990
haw 32 fordt./der 3t 9@ & 160 foorfl. T@a § 3R 40 5l /ee1 31 9@ § dear §1 Shwa 9@ SaRe?
72 km/h

A
72 {89
71.11 km/h

B
71.11 &, sder
36 km/h

C
36 fit. /der
35.55 km/h

D
35.55 &, /ger

Correct Ans : D

Subject : General Aptitude

Q.No: 93 A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot at a speed of 4 km/hour and partly on bicycle at a speed of 9 km/ hour. The distance travelled on
2435998

TF P 7 9 02 & 61 f5rlh, & arn ou @11 Al S $© A 4 6. /A 3 TR § Uea 9 S oiR $E amn 9 /e 1 TR ¥ uRfed gR1 g 9 |1, < I e g e e

14 km
A

14 f&.AL

16 km
B

16 .4

20 km
c

20 &t

18 km
D

18 {4

Correct Ans : B

Subject : General Aptitude

Q.No: 94 Train A takes 45 minutes more than train B to travel a distance of 450 km. Due to engine trouble speed of train B falls by a quarter, so it takes 30 minutes more than Train A tc
2436048 km/hr)?

450 fuft, @1 g8 T TR & W T A, T B B g A 45 e il T At 31 39 B WRIE ¥ RO B T U IS B9 & oI 8 ofd: S am B g A % e o7 A @ gan A

20
A

920

120
B

120

100
C

100

110
D

110



Correct Ans : C

Subject : General Aptitude

Q.No: 95 18 men or 36 boys working 6 hours a day can plough a field in 24 days. In how many days will 24 men and 24 boys working 9 hours a day can plough the same field?
2436123

18 3N 31T 36 TS 6 U AT PRI Db U Td BT 24 7 & Sid Avd &1 24 S TU1 24 TS s 9 He Uil o v It A 31 fvaq o & sz

9
A

9

10
B

10

6
C

6

8
D

8

Correct Ans : D

Subject : General Aptitude

Q.No: 96  The number 106974 is divisible by which of the single digit numbers:

2436136
BT 106974 TF 3 arel fow wem I faurea 2
2, 3,6 and 7 only
A
2,3, 6 3R 7 Faq
2, 3 and 7 only
B
2, 3, 4R 7 Faq
2, 3 and 4 only
C
2, 3 3R 4 Faq
2 and 3 only
D
2 3R 3 Fa@

Correct Ans : A

Subject : General Aptitude

Q.No: 97 The face value of the digit 6 in 16008 is:

2436137
16008 B 3fe 6 Bl AT AN (face value) & :
6
A
6
600
B
600
6000
c
6000
60
D
60

Correct Ans : A

Subject : General Aptitude

Q.No: 98  The smallest number which when added to 571 gives a number whose square root is 24, will be?

2444518 1g gad Sidt ¥en Bl 571 7 Sied Rt T 9o urd g e o 9@ 24 7, ghft:



A 4

4
-
¢ e
o7

Correct Ans : B

Subject : General Aptitude

Q.No: 99  which of the following group of fractions are in descending order?

2444520 fgfifya & 4 B 3 A o1 95 vea o0 3 §2

Correct Ans : A

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark ? in the following number series?
2444654

9, 28, 126, 344, ?, 2198

T Semelt & Jaen | U= o 2 & RIFA W 1 3

9, 28, 126, 344, ?, 2198

730
A

730

1332
B

1332

1001
C

1001

513
D

513

Correct Ans : B

Subject : General Aptitude






